i S Y <2

[BH:RF]
B T x T & [ & Bl =
20 (1[50 BIEE > 44 L (BREE  B0D) 10 s os | 025 | fommey
s:s0| D | & 1@ BE) - EiE HARISE EFIL
QT wLrIs BIEES2AL
AL ($hmE)
15|8oEs| Ak @2HHE ABES e (RERER)
BOF v L>Ia (BFox)
8:45 A LGEE#)
g:s50| D | % f& %E) - EfE 5(s:30]s:30 |8 &
45| 1 1B ]_ ]_ 1 ]_ 4 1
9:35 9:15] 9:15
o:a5 |10 1 %8 - i 10 g:25 | 0:25 |BBD - %M
45| 2 1B 2 2 2 2 3 2
10:30 10:10f10:10
10:45| 15| # & BE) - #fE 15(10:25|10: 25|88 - &
osee| 3 333 3
11:30 11:10f11:10
11:20| 10| 2 {8 ®Eh - % 10[11:20]|11:20] BY D&
FHIRETS
45| 4 #5ps 4 4 4 4 45 KM
12:25 12:05[12:05 ~12:05
13:10[45|%8 B fa B 45112 :50]12:50f O MO
1355 45|fK EB K (1RE8) 45(15:.35|13:35 E:WZZ
1ios| 10[F $B z5C 10]15:45 e
14:15 10 7%77@] %Z;Ejj/_%ﬁ? 5 ﬁ%iﬂ/—%ﬁ 10 13:55[13:3 it &t
-
45| 5 & 5 14:40 5 5 45 &
15:00 JZY D= 14:40[14:20 :
1510l 10|RYVOE| IBY D& PRl BY DR | IBY D= |10|14:50]14:30 i f
T 6 .
Gsiso| 45| 6 R (iiiiﬁ;) 15:35 |7777% 2R 6 45] 1510 RS
15:55 15@50 fok - Rie=R= 15:35|15:15] & *
16:10| 16| 1B BESRE |8 - £F <zji2§§§%> % - ZEm |8 - ZE0H| 1515 :50]15:30 2 ;;
Ler00 [ EMIER | BIEIFE * &
| S AHE FHER | FREH | BEKSE EN.
35| R B | BT | BHEMEZ |55 B
WEFE) | BMHR -
L6:as TE FRR R H 16:45/16:45

X BEFRVPRAEARRG, P0EESEANTRERRZERT S,
X BOESHEANTEEES UFEERK) ORKHZERT %,
CEADEESH Y, BERAL

(AFcH]
(35!

CHOEE L
CHDEE - RhRAL

[Bi&k]
[DizEE] : BADIEE - FBhrH Y




